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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.

After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
Each item has four alternative responses marked (1), (23, (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: ) Q) @ @

where (3) is the correct response.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark vour
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Black Ball point pen provided by C.B.S.E.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.

(if)

(iif)

~

12.
13.

‘%EIHC.BS.E R W R T @t

Thenteat & faw e

T UL ¥ W FET WH W 0 ot TR fAfaw |
T U0 § I gl ue €
uﬁmwﬁﬁwmgﬁa&wm%ﬁwﬁwﬁ
o fHFe e v GieH Ty IO FreEferte
m%%@&ﬁ@mﬁ S ST SR FA
(i) we-gfesm e & fore gfesn TR T TSt S gret

ﬁmﬁ|qﬁ§§mﬁm@aﬂﬁaaﬁgﬁﬁw

THH

ar et JEE-RAeET AU ot SR SR T 8 et

arfaRem @ fear s | '
(iii) 9 ST & 1% FAT- T 7o OMR T T 3ifehd

OMR T 1 R 39 FeA-JReehl W 3ok IR T |

Ww%mwwﬁm(l) (2), (Mm@
¥ | ST T I F I B U § ST BT HET & ST
fo = Temmn @ §

1 3o % € | 91 AT OMR w5 W (4 T 6 & Serre
gt a7 T W ST , & SEH! e
T Bl |

W%ﬁﬂ'&ﬁ%&'ﬁaﬁmﬁwﬁ

WW(RoughWork)sqgﬁﬁaﬂ%aﬁmg@Wﬁl
I 3T OMR T T 990 =M & 7eqen (o T,

Wqﬁqwmaﬁé%ﬁﬂmﬁﬁmﬁamaﬁwﬁ
T, 3R A & SAET ITIE S B FANT FIA E, AT S

@WRWG@ | TR ST TR Wt WY T Fe-GRereh
WOMRWH%WE&TWW@WW%I

T S TR 3 TR ¥ |
W%aﬁvﬁm%ﬁﬁmmﬁaﬁgﬁwﬁg‘r Fﬁaqﬁ?ﬁ%!aw
ST AT SO |

s [

P.T.O.



PHYSICAL EDUCATION
Paper-11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. Negative transfer of training is also known as
(1) Neutral transfer (2) Habit interference
(3) Zero transfer (4) Bilateral transfer

2. The systemic (greater) circulation supplies blood to all parts of the body, except
(1) Stomach (2) Heart
(3) Brain (4) Lungs

3. Levers in the body produces force to
(1) Overcome resistance (2) Create movement
(3)  Accelerate velocity (4) Throw an object into the space

4.  Which of the following is not the sequential stage of the stress process ?
(1) Perception (2) Competence
(3) Response (4) Consequence

5. Curriculum is
(1) Learner oriented system (2) Programmed instruction
(3) Graded course study (4) Instructional task system

6.  Which of the following is also called as Hansen’s disease 7
(1)  Chickenpox (2) Leprosy
(3) Tuberculosis (4) Hepatitis B

7. Which of the following is not a tactical ability ?
(1)  Special intellectual ability (2) Special perceptual ability
(3) Special volitional ability (4) Special learning ability

8.  Mean of one group is significantly greater than the other is tested through
(1) Twotail test (2) One tail test
(3) LSD test (4) Critical difference test

9.  The test for minimal strength is
(1) Kraus-Weber test (2) Gross-Max test
(3) Barrow and Meggy test (4) SCAT

10. Scope of sports management depends on
(1) Personnel (2) Facilities
(3) Finance (4) Allthe above

Paper-II 2 J-47-16



10.

IR forer

ooHa - 11
AT: WU H = (50) Sg-fashed U € | Hedeh Mo kAt (2) 3 & | |t v e €

TRT&T0T o FhRIcHe TAHRN0T &l T [5G € § ST ST & 2

(1) TS SRR (2) oTed e&Aely

(3) T MR (4) Tguef TR
G (FoR) TR IR o Tl 9T 7 TR i 3L Bl &, e
(1) oep-wedt (2) =3

(3) HrETsH (4) whg

IR | 3T (FA1eR) el T 0T 3 & S

(1) 31ERY W {oerF ure i1 & | (2) TIfa 1 FmioT SR &
(3) 9T ! gREtad HEr € | (4) Tt o o fohdt T W e € |
feAferiaa & @ i SaTe WishaT ST SFIhiHeh TROT TRl & 2

(1)  3feraron (2) <&

(3) TSR (4) uRoT

AT &

(1) T =3 ottt (2) T s

(3)  SIUThd TSI 7T (4)  STISVICHS I TOTreAt
frfafed 4 @ o ST AT E 2

(1) o deg (2) I

(3) &I (4) TUeRfcH-at
frfafEd & @ $F sfeda JimadT & ¢ 2

(1) foom sifass e (2) oo vemer = A
(3) To=IY TieRicTss e (4) o9 i I
Teh G T HTeT T 1! a7 ¢ A Th! S % o1 ¥ H S |
(1) o odreaon (2) o oo TdveTo

(3) TeLUH.SN. T (4) Tepiceher fem adieror
AT TR T T &

(1) HE-ga WIeToT (2)  TH-YeRT TRieqor

(3) RIS B TRIeA0T (4) THHTI

TA-F T 1 & o W R e € 7

(1) HHeR (2) glamst w

(3) fomw (4) SHFE wf W

J-47-16 3 Paper-I1



11.

12.

13.

14.

15.

16.

Objectives for learning are classified into three domains :

(a) Motor (b) Cognitive
{c) Psychomotor (d) Affective
Codes :

(1) (b), (c), (d) (2) (a), (), (d)
(3)  (a), (b), (c) (4) (b, (a), (d)
Which of the followings are required for blood coagulation ?
(a) Tron (b) Vitamin K
{(c) Cholesterol (d) Prothrombin
(e) Sodium

Codes :

(1) (a)(c) (2) (b), (d)

(3) (b), (c) (4) (d), (e)

Identify the factors that may affect stability :
(a) Height of the centre of gravity (b)  Applied force

(c) Size of the base of support (d) Speed of movement
{e) Weight of the object

Codes :

(1) (b), (d), (e) (2) (a), (c), (e)

(3) (@) (), (d) (4) (b, (c). (e)

Find the correct combination of the steps involve in the scientific research methodology of
sports psychology

{a) Systematic approach (by Social facilitation
(c) Empirical basis (d) Critical evaluation
Codes :

(1) (a), (b), (c) (2) (a), (c), (d)

(3) (a),(b), (d) (4) (b, (c), (d)
Teacher-mediated instructional format consists of

(a) Active teaching (b) Task teaching

(c) Reciprocal format (d) Teaching through questions
Codes :

(1) (a), (b), (c) (2) (), (c), (d)

(3) (a),(b), (d) (4) (b, (c), (d)

Criterion referenced test

(a) Encourage closed convergent thinking

(b) Encourage open divergent thinking

(c) Reflects the proportion, that could have been achieved
(d) Reveal maximum achievement of a content-arca

Codes :
(1) (a), (c), (d) (2) (b, (), (d)
(3) (a), (c) 4) (a), (d)
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17. Scientific observations are characterised by employing :
I. Deductive techniques
II.  Inductive techniques
III.  Regression techniques
IV. Conclusive techniques

Codes :
(1) L II&TI (2) LII&IV
3) I&II (4 II&III

18. The primary goal of intramural competition is
{a) To provide opportunity for mass participation of students.
(b) To participate in Interschool competition
{c) To provide Intra-school competition
(d) To improve sports performance for higher level of competition

Codes :
(1) (a)and (b) (2) (c)and (d)
(3) (a)and (d) (4) (b) and (d)

19. Which of the following are personality theories ?
(a) Trait theory
(b) Social learning theory
(c) Attribution theory
(d) Maslow’s theory
Select the correct codes :
(1) (b, (d), (a), (c) (2) (b) and (a) only
(3) (a)and (d) only (4) (), (d), (a) and (b)

20. When normal curve is positively skewed mean, median, mode are arranged in following

order :
(1) Mean > Median > Mode (2) Median < Mean < Mode
(3) Mode < Median < Mean (4) Mode > Median > Mean

21. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Sports history is the critical examination of the past, with a focus on
events, people and trends that influence the development and direction
of the field.

Reason (R) : History is concerned with the who, what, when, where, how and why
of sports.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R} is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true and (R) is false.

{4y (A) is false and (R) is true.
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22. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : When a muscle contraction would occur, is depending on the amount
of acetyl cholin released at the neuromuscular junction.

Reason (R) : Cholin esterase is present in the synaptic cleft which neutralises the
action of acetyl cholin.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

4y (A) is false but (R) is true.

23. Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Massage is one of the oldest forms of therapy for human ills.
Reason {R) : The use of massage is to achieve better cosmetic result on skin.
In the context of the above two statements, which of the following statements is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true and (R) is false.
{4y (A) is false and (R) is true.

24. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Understanding personality is central to improving your teaching and
coaching effectiveness. Sport personality was the most popular
research area in the 1960s and 1970s, when trait approach guided most
research efforts.

Reason (R) : Successful athletes exhibit the iceberg profile, which is characterised
by positive mental health and also tend to possess a variety of
psychological skills.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R} is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true and (R) is false.

{4y (A) is false and (R) is true.

25. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : To be an effective professional physical educator, is like learning to be
good at sport.

Reason (R) : The physical educator should desire to stay engaged with continuously
developing teaching skills and strategies.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true and (R) is false.

{4y (A) is false and (R) is true.
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26. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : Healthy body is a source of achieving the highest goal of life.
Reason (R) : Children should practice physical exercise, healthy food habits and
adopt the measures of personal hygiene to be healthy and fit.
In the context of the above two statements, which of the following statements is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true and (R) is false.
(4) (A) is false and (R) is true.

27. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : The analysis of individual styles of elite sports persons forms the basis
for preparing a model of technique.

Reason (R) : The model of technique may not tally in full with the style of any
athlete, however the execution of movements of elite athletes form the
basis of technique model.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R} is the correct explanation of (A).

(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true and (R) is false.

(4) (A) is false and (R) is true.

28. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Confidence intervals are based on the fact that any statistic possess
sampling error.

Reason (R) : This error relates to how well the statistic represent the target
population.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true and (R) is false.

(4) (A) is false and (R) is true.

29. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : The index of reliability is the theoretical correlation between the
observed scores and true scores.

Reason (R) : The square root of the percent of observed score variance accounted for
by true score variance is the theoretical correlation between the
observed and true scores.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true and (R) is false.

{4y (A) is false and (R) is true.
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4) (A)TATE A (R) W& T |

e <1 e feT MU € T | U Rl R (A) SR SE T A (R) FET T E

FfBeT (A) : Tovarg STcRTel 39 92 W G & o wiefes & ufaas e g g |

a& (R) : Ig I FE T § b Riesh [ha Tt & ¥ Jewk SHEEAT i e et
2

YR &1 YA % e § TAferiEa o o & 9el € 2

(1)  (A) 3 (R) 3HT TET & 3T (R), (A) T Tl LT T |

(2)  (A) 3T (R) IHT T&l &, wifehT (R), (A) T Tel TR0 @i € |

(3) (A) T TR (R) T & |

(4) (A)TATE A (R) W T |

T 31 e U MU E IS5 @ U Bl S (A) 3R g8 Sl T (R) FET TATE
At (A) :;’Rﬂ[ﬁ%ﬁTW Toh et 7Rl 3T aT&atereh 31ehi o arg ol Ygli~deh Tedwry
|

& (R) : TR 379 UEROT 5T e RS T Uik 37eh WEROT T ool UfeTd 3X
AT 37l % S AgT~dh Teday € |

YR &1 AT % Gl § Teferfaa & @ o el ¥ 2

(1) (A) 3T (R) 3HT T&l & 3 (R), (A) T T&l T & |

(2)  (A) 3T (R) 3HT Tl & &AfehT (R), (A) T TEl TR0 @i € |

(3)  (A) Tl T 3R (R) T & |

4) (A)TATE A (R) W& T |
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30. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : A number of factors are necessary for a sports organization to possess
an effective code of conduct.

Reason (R) : Code should not be based on a few overriding principles that can be
used to deal with ethical dilemmas faced by members of the
organization.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R} is the correct explanation of (A).

(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true and (R) is false.

(4) (A) is false and (R) is true.

31. The following Olympic Games were affected by political reasons. Arrange them in
chronological order :
(a) Montreal Olympic Games
(b) Los Angeles Olympic Games
{c) Moscow Olympic Games
(d) Munich Olympic Games

Codes :
(1) (d), (a), (), (b) (2) (a), (b), (c), (d)
(3) (a),(c), (d), (b) 4 (a), (), ), (c)

32. Which one is the correct sequence of pulmonary circulation 7
(a) Right ventricle
(b) Lungs
(c) Pulmonary vein
(d) Pulmonary artery
{(e) Left ventricle

(f) Aorta

(g) Left Auricle

Codes :

(1) (d), (c), (b), (D), (a) (2) (a), (c), (b), (d), (g)
(3) (e), (), (d). (b), (c) (4) (a), (d), (b), (c), (g)

33. Find the correct sequence (from head to foot) of the muscles given in the list :
(a) Semitendinosus
(b) Soleus
(c) Palmaris longus
(d) Plantaris
(e) Macxillaries
(f) Pectoralis Major
(g) Latissimus Dorsi

Codes :
(1) (D), (g), (e), (c), (d), (b), (a) (2)  (g), (D), (c), (e), (d), (a), (b)
(3)  (e), (2), (D, (a), (c), (b), (d) (4 (e), (g), (D, (c), (b), (a), (d)

Paper-II 12 J-47-16



30.

31.

32,

33.

e 31 e UM E | U BT ATTHIA (A) 3R T BT HROT (R) FET T E

A (A) TR TA-F T H ISR ER Giedl & o0 3% SR TavasH & |

HROT (R)  : 3TER Gl o $F TEHRI (Gl 0 SMiRd Fal g1 a1few STt SuanT
TS % T §RT AT U ST @ Afdes fgfoenet @ fues & fow feam s
HHATE |

U 31 HUAT % e § et 3§ § o el € 2

(1) (A) 3T (R) THT W& € 3R (R), (A) T &l TWEIHT T |

(2)  (A) 3T (R) THT Tl &, &AfehT (R), (A) o1 TEl T @i € |

(3) (A) T A (R) T ¢ |

(4)  (A) T & R (R) W& € |

frAfafEd Sieioes el TSHIaes SR & W1 gT & | HoBRAER Hfaad i ared
HIT

(a) TifeTA ATHE TA

(b) T ToieTE ST T

(c) TR eI Tt

(d) wFE TS g

&

(1) (d). (a), (c), (b) (2) (), (b), (), (d)

(3) (@), (c), (d), (b) 4 (a), (d), (b), (¢)

frferiad & @ #F FrEET TER 5 TEl T § 7

(a) Sife o=

(b) T

(c) FopEE Rt

(d)  HUREr T

(e) & Fetg

(f) ereE (a2

(g) T Al

E T

(1) (d), (c), (b), (D), (&) (2) (a), (c), (b), (d), (&)
(3)  (e), (), (d), (b), (c) (4) (a), (d), (b), (c), (2)

T g W UferEt B W S (I U ) e

(a) HHRTEE

(b) Hifeaq

(c) UMY A=TH

(d) wI=RH

(e) HFEANST

(f) YRR Ao

(g) Afefaug <mmg

E{lﬁ":

(1) (D), (g), (e), (c), (d), (b), (a) (2)  (g), (D), (c), (e), (d), (a), (b)
(3)  (e), (2), (D, (a), (c), (b), (d) (4 (e), (g), (D, (c), (b), (a), (d)
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34. Find the comrect sequence among the steps used for increasing the intrinsic motivation :
{a) Successful experience of the activity
(b) Realistic performance goals
{c) Involvement in decision making
(d) Verbal and non-verbal praise

Codes :
(1) (a), (b), (c), (d) (2) (a), (d), (©.(b)
(3) (a), (c), (d). (b), (4) (b, (c), (d), (a)

35. Find the correct combination of the golden principles of prevention and control of
tuberculosis from the codes given below :
(a) BCG vaccination
(b) Isolation
(c} Chemoprophylaxis
(d) Surveillance
(e) Low caloric diet

Codes :
(1) (c), (d), (e), (a) (2)  (e), (d), (a), (k)
(3)  (b), (c), (d), (e) 4) (a), (b), (c), (d)

36. Given below are the steps followed in the formulation of a yearly plan. Find the correct
sequence from the codes given below :
(a) Determination of load dynamics and load indices.
(b) Determination of dates of tests and competitions
(c) Determination of periods and arrangement of meso-cycles
(d) Determination of goals and sub-goals

Codes :
(1) (a), (b), (c), (d) (2) (b)), (d), (c), (a)
(3)  (d), (), (b), (a) (4 (), (b, (a), (d)

37. Arrange the following courses of degree/diploma/certificate in physical education in
chronological order of their inception.

(a) DPEd (b) BPE

(c) CPEd (d) BPEd

Codes :

(1) (d), (b), (), (c) (2) (b, (d), (c), (a)
(3) (a),(c), (b), (d) 4 (c), (a), (b), (d)

38. Find the comrect sequence given below relating to prevention of communicable diseases :
(a) Immunisation
(b) Disinfection
{(c) Isolation
(d) Notification
{e) Proper care and treatment

Codes :
(1)  (d), (c), (e). (a). (b) (2)  (c), (d), (b), (e), (@)
(3) (b), (a), (c), (d), (e) (4) (a), (b), (d), (c), (&)
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M.

3s.

36.

37.

38.

ST RO Bl g o o ST shai bl Tl shel Sefit -
(a) DTS H T 3T

(b) dRATF TSI ed

(c) To@ o= o Horaan

(d) i R RHifEes w9

HT:
(1) (a), (b}, (c), (d) (2)  (a), (d), (c), (b)
(3) (@), (c), (d), (b), 4 (b), (), (d), (a)

Tt 5w T et @ &7 I > TR R 0T & @iy fagid & Tet 9aise ot uEE Y
(a)  S.GST, JreRTRIor

(b) ST T

(c) FHHMHARTT

(d) T

(e) T HART HT HIoH

&

(1) (e, (d), (e). (a) (2) (e, (d), (a). (b)

(3) (b, (c), (d), (e) (4) (a), (b), (). (d)

e a1 ST Sl TR | SO STH et =R0T 5T T € | A 5T 7T i @ W&l T
TEaH

(a) YR T 3T R gt T FeRoT

(b) ORIET 3T Ufcqeaeret st fafaar = feror

(c) 3TarEl 1 FURT 3 OG- i Saen

(d) T 3 U Hr RO

FH
(1) (a), (b}, (c), (d) (2) (b}, (d), (c). (a)
(3) (), (0), (b), (a) 4 (e (b), (), (d)

RN e # fefi/femmaicitrde & Fefarad deashal il 39% R 89 & w9 |
FHTHHATHR ST Y -

(a) SIUOITS. (b) wUE

(c) HUITS, (d) <dOTs.

HT:

(1) (d), (b), (a), (c) (2) (b), (d), (c), (a)

(3) (a), (c), (b), (d) 4) (c), (a), (b), (d)
Tshraeh SHIRET i Aeh o Gl § i T T el A T 5 ol e A
(a) IR (b) fadseeor

(c) 3ToTT T (d) e

(e) TYMT IW-1G 3R AT

E!\o‘d‘ :

(1) (d), (c), (e), (a), (b) (2) (), (d), (b), (), (a)
(3) (b), (a), (c), (d), (e) 4) (a), (b), (d), (c), (e)
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39.

40.

41.

42.

Find the correct sequence of inductive teaching procedure from the codes given below :
Task method
Presentation method
Co-operative method
Practice of the technique

(a)
(b)
(c)
(d)

Codes :

ey
3)

(a), (b}, (¢), (d)
(c), (d), (a), (b)

(2)  (b), (), (d), ()
(4)  (d), (b), (c). (a)

Arrange the four stage process of developing a measuring tool in a specified order :
Formation of Index
Specification of concept development
Concept development

Selection of Indicators

(a)
(b)
(c)
(d)

Codes :

ey
3)

Match the terms of List — I with that of List — II and select the correct option using the

(b), (¢), (a), (d)
(d), (c), (), (b)

codes given below :

(2)  (c), (b), (d), (a)
(4)  (a), (b), (c), (d)

List -1 List - II

a.  Indian Olympic Association i 1970
b.  Sports and Youth Welfare Dept. ii. 1985
¢.  Sports talent search scholarship scheme il 1927
d.  Sports Authority of India iv. 1958
Codes :

a b C d
(Iy 1 @i il iv
(2) i iv i ii
(3) iv i i il
4y i iv i i

Match List — I with List — IT and select the correct option using the codes given below :

a.
b.
c.
d.

Codes :

ey
2)
3)
)

Paper-11

List -1

Short wave diathermy

Cryotherapy

Superficial thermotherapy

Ultra sound

a
i
ii
iii
iii

11
v
iv
11

C d
v il
11l 1

i i

1 v

ii.

il
iv.

List — 11
High frequency acoustic vibration
Wax bath
High radio frequency electric current
Whirlpool cold bath
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39. e XU T Fef | AT RIeI0T FrEfary & Wel A H wea Y

(a) o faty
(b) wf forfy
(c) TEHRI fafy
(d) TP BT ST FHTAT
E
(1) (a), (b), (c), (d) (2) (b, (a), (d), (c)
(3)  (c), (d), (a), (b) 4 (d), (b), (0), (a)
40. Tt fafeTee 0 B 3 HTIT ST forehiad e 1 IR TROT i Ui ol AT it
(a) GIAHIH ST
(b)  STIUROT fahq 1 fafereieor
(c) 3TTUROT fae g
(d) FIHH F T
E
(1) (b), (c), (a), (d) (2) (o), (b), (d), (a)
(3)  (d), (c), (a), (b) 4)  (a), (b), (), (d)
41. I - 1% 9T gt - [1 ¥ Gaferd &Y 3R 1 5T 0 Fei @ T2t fawmea & 997 #
et -1 et - 11
a. YR AT Te i 1970
b. T 3R JaT FHoAmT form ii. 1985
c. Tl Ui @it SrEghd aeT iii. 1927
d. YR et mieehoT iv. 1958
E T
a b C d
(1) i i i v
2y i v i ii
3) iv i iii ii
4y ii iv il i
42, A - 1% I&T B Gl - I T GAfed Y 3R A 5T 0 $ei 9 9t faehed &1 oo oY ;
e -1 = - 11
a. O QU SO U (JS AG TRAAN) Q. 39 G aTel F HEH
b.  Sifafshedm (SHIAERT) i TEE
c.  Hagt am fafewcr iii. =9 <At Tgha Al fayd aw
d. o7 Ose iv. YR 3id T (feaeige S o)
&
a b C d
(1) i i iv i
(2) i iv il i
(3) i v i i
4y ii ii i v
J-47-16 17 Paper-I1



43. Match the terms of List — I with that of List — IT and select the correct option using the
codes given below :

List — 1 List - I1
a. Supination i. Movement of a limb towards body
b. Abduction ii. A movement of the forearm in
which the palm faces posteriorly
c. Pronation iii. Moving away from the median
plane of the body
d. Adduction iv. A movement of the forearm in
which the palm faces anteriorly
Codes :
a b c d
(1) iv i i il
(2)y i1 iv i il
(3) i il v i
4y iii i i iv

44. Match the terms of List — I with that of List — IT and select the correct option using the
codes given below :

List — 1 List - 11
a.  Exercise Adherence i Morgan, W.P.
b.  Psychological rehabilitation  ii.  Wiese, D.M.
c.  Burnout in sport iii. Dale,J
d “Iceberg Profile” iv.  Dishman, R.K.
Codes :

a b c d
(1y i i v ii
(2) iv i i i
(3) iii i i v
4y i1 iv i iii

45. Match the terms of List — I with that of List — IT and select the correct option using the
codes given below :

List -1 List — 11
a. Professional ethics i.  Fulfilling obligation in exemplary style
b. Designing task progression ii. To achieve success by participants
c. Professionalism iii. Professional good conduct
d. Accountability iv. Exhibiting high level of competence
and conduct

Codes :

a b C d
(I i i v
(2) it il iv i
(3) 1iv i il
4) 1 1 v i
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13, 1 T g — 11 e iR A e e e & e e e

4.

45.

C TAH

(=N

ey
(2)
3)
)

T -1
S (T)

TS (TEZHRT)

EAT (FH9)

o [d v
AT (3TSHRM)

a
v
ii
ii
i

b
iv
iii
ii

c
ii
i

v
i

d
iii
iii
i
v

= - 11

I1E T IR ! TRE Hoe

AT |

AR |

i VETg U G STH el qeeeT

iii. YRR % Hifea" wH ¥ T |
iv. Vg H UH oo SEH gel ST &

T — T3 5 1 e — 1 9 e ¢ S S o T et W e e o o

e -1
2 gafe
B EICRIIECACEIR)
A T 5 33T

iv

i

ii.

iii.

1v.

=t - 11
TN, T .
ey, S
2T,
oMM, 2T,

T — 13 T g — 11 e FE S A T 2w e e

a.

b. & yid TAR HE

et -1

U9e a9

c. SAMIIHar
d. SEEE
&

a b
(1 i i
(2) i i
(3) 1iv 1
(4) ii 11

J-47-16

C
i
iv
i1
v

iv

iii

ii.
il

1v.

19

Tt - 11

TN Sictt H ST ol g1 AT
AMTERT §RT THeTal e T |

YT TS TR

Io9 TR I A 3R TR H TSI
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46. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List-1 List-11

a. Irregular growth of teeth i Vitamin D
b. Rickets 11 Vitamin E
C. Blood clotting iii.  Vitamin A
d. Formation of red blood cells  iv. Vitamin K
Codes :

a b c d
(1y i 1 v il
2y 1 11 m  1v
(3) iv il i i

@ @i i v i

47. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List -1 List - 11
a. Improvement in movement time and i Part method
reaction time, separately
b. Improvement of speed endurance ii.  Contrast method
c. Improvement in orientation and 1iii. Dribbling with closed eyes
adaptation abilities
d. Improvement in maximum strength iv. Intensive interval method
with explosive strength
Codes :
a b c d
(1) i il iv i
(2) iv il il i
3) i iv i il
(4) ii i i iv

48. Match the terms of List — I with that of List — II and select the correct option using the
codes given below :

List - 1 List — 11
a. When sample mean is to be compared with hypothesised -5
population mean L L= T 1
SA [+
oy My
b. When means from independent samples are to be compared B
i. t=
SA/n
c. When samples are dependent. it 1r 5 \/nTZ
d. Test of significance for observed sample coefficient correlation . U
iv. t=
S\n

Codes :
a b C d
(y i il iv i

Q) iv i i i
(3) iv i i i
@ i i v i
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46. @—I%ﬁ@—ll@@ﬁﬁﬁﬁﬁ&ﬂ@@ﬂﬁﬁmwwﬁ:
-1 -1I

37t &1 S e i fgemED

R e ii. foafmmE

T T STHAT iii.  foemET A

AT Tad SHUT Al FAT0T iv. foamaK

EORmS Yoo
R

ot

=]

-

o

-

-

ot

=]

47. - I%Wﬁﬁwnﬁgﬁ%ﬁaﬁaﬁrﬁﬁqn@@j;ﬁﬁmmwaﬁ
-1I
a Wwaﬁrtﬁmwﬁw i

b. Tr%rwsﬁmfrw ii.  eRe ot
c.  IEd 3R STFHCTT AT H GER iii. I 3ifEt @ fesedin
d. foohies vied & @g Afusdy vifod § v, Eedd SXad O
TR
- TAH
a b C d
(1Iy 1 m  iv 1
(2) iv 1l i1 1
3) i iv il il
(4) ii 11 1 v
48, At — [ % 9T B et — 11 ¥ Gafera < 3T A U e i & 9el faehen o =ae e ;
e -1 =t - 11
. STe AT | i Uehioud SHEE qre 9 BATE | T-3
a W STAHE] QAT Al . xl 1
M\
b. ST W AT ¥ HTEA T T Bl S & | 5
11 ‘[:S/\/;1
C. mmﬁﬁ%aﬁ%| it = 11’ Z\IHTZ
\V1-r
d. S T AT T FEGFAT o [oIq Qe i i Fou
w. t= S\/?l

[ YA

[N

(M i i v i

@) iv i i i
(3) iv i i i
@ i i v i
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49. Match the terms of List — I with that of List — 1T and select the correct option using the

codes given below :

List—1

a.  Fibre type
b.  Blood pressure
c.  Obesity
d.  Vital capacity
Codes :

a b
(1) iii i
(2) iv vi
(3) i vi
4) v i

v

v

iii

ii.

iii.

1v.

VL

ii

ii

List — 11

Sphygmomanometer

Spirometer

Biopsy

Electrolipography

Calorimeter

Respiratory quotient

50. Match the terms of List — I with that of List — 1T and select the correct option using the

codes given below :

List — 1
a. Bureaucratic theory i
b.  Scientific Management ii.
Theory
c.  Administrative theory iii.
d.  Human Relation Movement iv.
Theory
Codes :
a b c d
(1) iv i i ii
2) i i v
(3) i iv i iii
4) iv i il i

Paper-11
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List — 11
Henry Fayol
Elton Mayo

F.W. Taylor
Max Weber
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49, T 1 T — 11 & e AR A e T 2 & e e e

a.

ey
2)
3)
(4)

e -1
T (T THEX
EESEIR] ii.
Atz iii.
TTETA HUTFT iv.
V.
VL
a b C d
i i iv ii
v vi v 1
iii vi iv v
iv i iii ii

aft - 11

ES st tei ey

TR

50. e - 1% U&7 B g - 11 ¥ Aferd &Y 39K A iU T wel | 9 fashed & =T w

a.

2)
3)
(4)

J-47-16

e -1
BIETS R TEAR]
CRIECaCEERTFARS
IR fagT
a b C d
iv iii i ii
i ii i iv
ii iv i iii
v iii ii i

ii.

iii.

iv.

T - 11
TR A
Toed |
TH T, SR
EERECED
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